Commun. Korean Math. Soc. **36** (2021), No. 2, pp. 377–387

 $\begin{array}{l} {\rm https://doi.org/10.4134/CKMS.c200196} \\ {\rm pISSN:~1225\text{-}1763~/~eISSN:~2234\text{-}3024} \end{array}$ 

# SOME RESULTS ON $\eta$ -RICCI SOLITONS IN QUASI-SASAKIAN 3-MANIFOLDS

ABDUL HASEEB, SHASHIKANT PANDEY, AND RAJENDRA PRASAD

ABSTRACT. In the present paper, we characterize quasi-Sasakian 3-manifolds admitting  $\eta$ -Ricci solitons. Finally, the existence of  $\eta$ -Ricci soliton in a quasi-Sasakian 3-manifold has been proved by a concrete example.

#### 1. Introduction

Quasi-Sasakian manifold is a natural generalization of Sasakian manifold whose notion was introduced by Blair [2] to unify Sasakian and cosympletic structures. The properties of quasi-Sasakian manifolds have been studied by various authors such as Gonzalez and Chinea [13], Kanemaki ([16,17]), De and Sarkar [9], De et al. [10], Turan et al. [22] and many others. On a 3-dimensional quasi-Sasakian manifold, the structure function  $\beta$  was defined by Olszak [19] and with the help of this function he has obtained necessary and sufficient conditions for the manifold to be conformally flat [20].

A Ricci soliton  $(g, V, \lambda)$  on a Riemannian manifold (M, g) is a generalization of an Einstein metric such that

$$\pounds_V g + 2S + 2\lambda g = 0,$$

where S is the Ricci tensor,  $\pounds_V$  is the Lie derivative operator along the vector field V on M and  $\lambda$  is a real number. The Ricci soliton is said to be shrinking, steady or expanding according to  $\lambda$  being negative, zero or positive, respectively.

As a generalization of Ricci soliton, the notion of  $\eta$ -Ricci soliton was introduced by Cho and Kimura [6]. This notion has also been studied for Hopf hypersurfaces in complex space forms by Calin and Crasmareanu [5]. An  $\eta$ -Ricci soliton is a quadruple  $(g,V,\lambda,\mu)$ , where V is a vector field on  $M,\lambda$  and  $\mu$  are constants and g is a Riemannian (or pseudo-Riemannian) metric satisfying the equation

(2) 
$$\pounds_V g + 2S + 2\lambda g + 2\mu \eta \otimes \eta = 0,$$

Received June 8, 2020; Revised November 15, 2020; Accepted November 23, 2020. 2010 Mathematics Subject Classification. Primary 53C15, 53C25.

Key words and phrases.  $\eta$ -Ricci solitons, quasi-Sasakian 3-manifold,  $\eta$ -Einstein manifolds, projective curvature tensor.

where S is the Ricci tensor associated to g and  $\eta$  is a 1-form. Recently, an  $\eta$ -Ricci soliton has been studied by various authors in several ways to a different extent such as Blaga [1], De and Mondal [8], Ghosh [12], Haseeb and Prasad ([14,15]), Majhi et al. [18], Prakasha and Hadimani [21] and many others. In particular, if  $\mu = 0$ , then the notion of  $\eta$ -Ricci soliton  $(g, V, \lambda, \mu)$  reduces to the notion of Ricci soliton  $(g, V, \lambda)$ .

Let M be a (2n+1)-dimensional Riemannain manifold. If there exists a one to one correspondence between each coordinate neighbourhood of M and a domain in Euclidean space such that any geodesic of the Riemannian manifold corresponds to a straight line in the Euclidean space, then M is said to be locally projectively flat. For  $n \geq 1$ , M is locally projectively flat if and only if the projective curvature tensor vanishes. Here the projective curvature tensor P with respect to the Levi-Civita connection  $\nabla$  is defined by ([11,24])

(3) 
$$P(X,Y)Z = R(X,Y)Z - \frac{1}{2n}[S(Y,Z)X - S(X,Z)Y]$$

for all  $X,Y,Z\in\chi(M)$ , where R is the Riemannian curvature tensor and S is the Ricci tensor with respect to the Levi-Civita connection.

The paper is organized as follows: In Section 2, we give a brief introduction of quasi-Sasakian manifolds. In Section 3, we study projectively flat quasi-Sasakian 3-manifolds admitting  $\eta$ -Ricci solitons. Section 4 deals with the study  $\phi$ -projectively semisymmetric quasi-Sasakian 3-manifolds admitting  $\eta$ -Ricci solitons. Sections 5, 6 and 7 are devoted to study  $\eta$ -Ricci solitons in quasi-Sasakian 3-manifolds satisfying the curvature conditions  $P(\xi,X)\cdot S=0$ ,  $Q\cdot P=0$  and  $Q\cdot R=0$ , respectively. In Section 8, we study  $\eta$ -Ricci solitons in recurrent quasi-Sasakian 3-manifolds. Finally, we construct an example of quasi-Sasakian 3-manifolds which admits an  $\eta$ -Ricci soliton.

### 2. Preliminaries

Let M be an almost contact metric manifold of dimension (2n + 1) with an almost contact metric structure  $(\phi, \xi, \eta, g)$ , where  $\phi, \xi, \eta$  are tensor fields of type (1, 1), (1, 0), (0, 1) respectively and g is a Riemannian metric on M such that ([3, 4])

(4) 
$$\phi^2 X = -X + \eta(X)\xi, \quad \eta(\xi) = 1, \quad \phi \xi = 0, \quad \eta(\phi X) = 0,$$

(5) 
$$g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y),$$

(6) 
$$g(X, \phi Y) = -g(\phi X, Y), \quad g(X, \xi) = \eta(X)$$

for all  $X,Y \in \chi(M)$ , where  $\chi(M)$  denotes the collection of all smooth vector fields of M. M is said to be quasi-Sasakian if the almost contact structure  $(\phi, \xi, \eta)$  is normal and the fundamental 2-form  $\Phi$  is closed  $(d\Phi = 0)$ . A three dimensional almost contact metric manifold M is quasi-Sasakian if and only if [19]

(7) 
$$\nabla_X \xi = -\beta \phi X$$

for a certain function  $\beta$  on M, such that  $\xi\beta=0$ , where  $\nabla$  is the Levi-Civita connection of M. Clearly, a quasi-Sasakian 3-manifold is cosymplectic if and only if  $\beta=0$ . If  $\beta=$  constant, then the manifold reduces to a  $\beta$ -Sasakian manifold and  $\beta=1$  gives the Sasakian structure. Throughout in the paper, we are using the fact that  $\beta=$  constant.

In a quasi-Sasakian 3-manifold, we have [19]

(8) 
$$(\nabla_X \phi) Y = \beta(g(X, Y)\xi - \eta(Y)X),$$

(9) 
$$(\nabla_X \eta) Y = -\beta g(\phi X, Y),$$

(10) 
$$R(X,Y)Z = (\frac{r}{2} - 2\beta^2)(g(Y,Z)X - g(X,Z)Y) + (3\beta^2 - \frac{r}{2})(g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y),$$
(11) 
$$S(X,Y) = (\frac{r}{2} - \beta^2)g(X,Y) + (3\beta^2 - \frac{r}{2})\eta(X)\eta(Y)$$

for all  $X, Y, Z \in \chi(M)$ .

**Definition.** A quasi-Sasakian manifold is said to be an  $\eta$ -Einstein manifold if its non-vanishing Ricci tensor S is of the form

(12) 
$$S(X,Y)Y = ag(X,Y) + b\eta(X)\eta(Y),$$

where a and b are smooth functions on the manifold. If b=0, then the manifold is said to be an Einstein manifold.

**Proposition 2.1** ([12]). A 3-dimensional non-cosymplectic quasi-Sasakian manifold admitting an  $\eta$ -Ricci soliton is an  $\eta$ -Einstein manifold given by

(13) 
$$S(X,Y) = -\lambda g(X,Y) - \mu \eta(X)\eta(Y)$$

for any  $X, Y \in \chi(M)$ .

**Proposition 2.2** ([12]). If a 3-dimensional non-cosymplectic quasi-Sasakian manifold admits an  $\eta$ -Ricci soliton, then we have

$$(14) \lambda + \mu = -2\beta^2,$$

where  $\lambda$  and  $\mu$  are constants.

## 3. Projectively flat quasi-Sasakian 3-manifolds admitting $\eta$ -Ricci solitions

Let M be a projectively flat quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton. Therefore, P(X,Y)Z=0 and thus from (3) it follows that

(15) 
$$R(X,Y)Z = \frac{1}{2}[S(Y,Z)X - S(X,Z)Y].$$

Taking the inner product of (15) with  $\xi$  and using (6), we have

$$g(R(X,Y)Z,\xi) = \frac{1}{2}[S(Y,Z)\eta(X) - S(X,Z)\eta(Y)]$$

which by virtue of (10) takes the form

$$4\beta^{2}(g(Y,Z)\eta(X) - g(X,Z)\eta(Y)) = S(Y,Z)\eta(X) - S(X,Z)\eta(Y).$$

Putting  $X = \xi$  in the last equation, then using (4), (6) and (13), we find

(16) 
$$S(Y,Z) = 4\beta^2 g(Y,Z) - (4\beta^2 + \lambda + \mu)\eta(Y)\eta(Z).$$

By using (14) in (16), we get

(17) 
$$S(Y,Z) = 4\beta^2 g(Y,Z) - 2\beta^2 \eta(Y)\eta(Z).$$

Now from (13) and (17) it follows that  $\lambda = -4\beta^2 < 0$  and  $\mu = 2\beta^2$ . Thus we can state the following:

**Theorem 3.1.** A projectively flat quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton is an  $\eta$ -Einstein manifold of the form (17) and the Ricci soliton is always shrinking.

# 4. $\phi$ -projectively semisymmetric quasi-Sasakian 3-manifolds admitting $\eta$ -Ricci solitions

**Definition.** A quasi-Sasakian manifold is said to be  $\phi$ -projectively semisymmetric if [7]

$$P(X,Y) \cdot \phi = 0$$

for all X, Y on M.

Let M be a  $\phi$ -projectively semisymmetric quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton. Therefore  $P(X,Y)\cdot\phi=0$  turns into

$$(18) \qquad (P(X,Y) \cdot \phi)Z = P(X,Y)\phi Z - \phi P(X,Y)Z = 0$$

for any vector fields  $X, Y, Z \in \chi(M)$ . From (3), we find

(19) 
$$P(X,Y)\phi Z = R(X,Y)\phi Z - \frac{1}{2}[S(Y,\phi Z)X - S(X,\phi Z)Y],$$

and

(20) 
$$\phi P(X,Y)Z = \phi R(X,Y)Z - \frac{1}{2}[S(Y,Z)\phi X - S(X,Z)\phi Y].$$

Combining the equations (18), (19) and (20), we have

$$R(X,Y)\phi Z - \phi R(X,Y)Z - \frac{1}{2}[S(Y,\phi Z)X - S(X,\phi Z)Y - S(Y,Z)\phi X + S(X,Z)\phi Y] = 0$$

which by taking  $Y = \xi$  and using (6), (10), (13) and (14) reduces to

(21) 
$$S(X, \phi Z)\xi - 4\beta^2 g(X, \phi Z)\xi - 2\beta^2 \eta(Z)\phi X = 0.$$

Taking the inner product of (21) with  $\xi$  and using (4), we find

(22) 
$$S(X, \phi Z) = 4\beta^2 g(X, \phi Z).$$

By replacing Z by  $\phi Z$  in (22) and making use of (4), we have

$$S(X,Z) - \eta(Z)S(X,\xi) - 4\beta^2 g(X,Z) + 4\beta^2 \eta(X)\eta(Z) = 0$$

which by using (13) and (14) gives

(23) 
$$S(X,Z) = 4\beta^2 g(X,Z) - 2\beta^2 \eta(X)\eta(Z).$$

Now from (13) and (23) it follows that  $\lambda = -4\beta^2 < 0$  and  $\mu = 2\beta^2$ . Thus we can state the following:

**Theorem 4.1.** A  $\phi$ -projectively semisymmetric quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton is an  $\eta$ -Einstein manifold of the form (23) and the Ricci soliton is always shrinking.

### 5. $\eta$ -Ricci solitons in quasi-Sasakian 3-manifolds satisfying $P(\xi, X) \cdot S = 0$

Let M be a quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton satisfying  $P(\xi, X) \cdot S = 0$ . Then we have

(24) 
$$S(P(\xi, X)Y, Z) + S(Y, P(\xi, X)Z) = 0.$$

From (3), we find

(25) 
$$P(\xi, X)Y = 2\beta^2(g(X, Y)\xi - \eta(Y)X) - \frac{1}{2}(S(X, Y)\xi + (\lambda + \mu)\eta(Y)X).$$

By virtue of (25), (24) takes the form

$$2\beta^2[g(X,Y)S(\xi,Z)+g(X,Z)S(\xi,Y)-\eta(Y)S(X,Z)-\eta(Z)S(X,Y)]$$

$$-\frac{1}{2}[S(X,Y)S(\xi,Z) + S(X,Z)S(\xi,Y) + (\lambda + \mu)(S(X,Y)\eta(Z) + S(X,Z)\eta(Y))] = 0,$$

which by virtue of (13) reduces to

(26) 
$$2\beta^{2}[S(X,Z)\eta(Y) + S(X,Y)\eta(Z) + (\lambda + \mu)(g(X,Y)\eta(Z) + g(X,Z)\eta(Y))] = 0.$$

Taking  $Z = \xi$  in (26) then using (6) and (13), we find

(27) 
$$S(X,Y) = -(\lambda + \mu)g(X,Y).$$

Now by using (14) in (27), we get

$$(28) S(X,Y) = 2\beta^2 q(X,Y).$$

From the equations (13) and (28) it follows that  $\lambda = -2\beta^2 < 0$  and  $\mu = 0$ . Thus we can state the following:

**Theorem 5.1.** If a quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton  $(g, \xi, \lambda, \eta)$  satisfies  $P(\xi, X) \cdot S = 0$ , then the manifold is an Einstein manifold of the form (28), and the  $\eta$ -Ricci soliton becomes Ricci soliton  $(g, \xi, \lambda)$  which is always shrinking.

Again it is known that a 3-dimensional Einstein manifold is a manifold of constant curvature [24]. Thus we have:

Corollary 5.2. A quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton satisfying  $P(\xi, X) \cdot S = 0$  is a manifold of constant curvature.

#### 6. $\eta$ -Ricci solitons in quasi-Sasakian 3-manifolds satisfying $Q \cdot P = 0$

Let M be a quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton satisfying  $Q\cdot P=0$ . Then we have

(29) 
$$Q(P(X,Y)Z) - P(QX,Y)Z - P(X,QY)Z - P(X,Y)QZ = 0$$

for all  $X, Y, Z \in \chi(M)$ . In view of (3), (29) becomes

$$Q(R(X,Y)Z) - R(QX,Y)Z - R(X,QY)Z$$
$$-R(X,Y)QZ + S(Y,QZ)X - S(X,QZ)Y = 0$$

which by taking the inner product with  $\xi$  takes the form

(30) 
$$\eta(Q(R(X,Y)Z)) - \eta(R(QX,Y)Z) - \eta(R(X,QY)Z) - \eta(R(X,Y)QZ) + S(Y,QZ)\eta(X) - S(X,QZ)\eta(Y) = 0.$$

Putting  $Y = \xi$  in (30), we have

(31) 
$$\eta(Q(R(X,\xi)Z)) - \eta(R(QX,\xi)Z) - \eta(R(X,Q\xi)Z) - \eta(R(X,\xi)QZ) + S(\xi,QZ)\eta(X) - S(X,QZ)\eta(\xi) = 0.$$

From (10), we find

(32) 
$$\begin{cases} \eta(Q(R(X,\xi)Z)) = \eta(R(X,Q\xi)Z) = 4\beta^4(\eta(X)\eta(Z) - g(X,Z)), \\ \eta(R(QX,\xi)Z) = \eta(R(X,\xi)QZ) = 2\beta^2(2\beta^2\eta(X)\eta(Z) - S(X,Z)), \\ S(\xi,QZ) = 4\beta^4\eta(Z). \end{cases}$$

By the use of (6) and (32), (31) takes the form

(33) 
$$S(X, QZ) = 4\beta^2 S(X, Z) - 4\beta^4 \eta(X) \eta(Z).$$

In view of (13), (33) turns to

(34) 
$$(\lambda + 4\beta^2)S(X, Z) + 2\beta^2(\mu - 2\beta^2)\eta(X)\eta(Z) = 0$$

which in view of (14) reduces to

(35) 
$$S(X,Z) = 2\beta^2 \eta(X)\eta(Z),$$

where  $\mu \neq 2\beta^2$ . Therefore, from (13) and (35), we get  $\mu = -2\beta^2$  and hence  $\lambda = 0$ . Thus we can state the following theorem:

**Theorem 6.1.** If a quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton  $(g, \xi, \lambda, \eta)$  satisfies  $Q \cdot P = 0$ , then the manifold is a special type of  $\eta$ -Einstein manifold of the form (35), and the Ricci solitons is always steady.

#### 7. $\eta$ -Ricci solitons in quasi-Sasakian 3-manifolds satisfying $Q \cdot R = 0$

Let M be a quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton satisfying  $Q \cdot R = 0$ . Then we have

(36) 
$$Q(R(X,Y)Z) - R(QX,Y)Z - R(X,QY)Z - R(X,Y)QZ = 0$$

for all  $X, Y, Z \in \chi(M)$ . By virtue of (10), (36) takes the form

$$(r - 2\beta^{2})(S(X,Z)Y - S(Y,Z)X) + (3\beta^{2} - \frac{r}{2})(g(Y,Z)\eta(X)Q\xi)$$

$$- g(Y,Z)\eta(QX)\xi - g(X,Z)\eta(Y)Q\xi + g(X,Z)\eta(QY)\xi$$

$$+ 2S(X,Z)\eta(Y)\xi - 2S(Y,Z)\eta(X)\xi + \eta(QX)\eta(Z)Y$$

$$- \eta(QY)\eta(Z)X + \eta(X)\eta(QZ)Y - \eta(Y)\eta(QZ)X) = 0.$$

From (13), it follows that

(38) 
$$\begin{cases} QX = -\lambda X - \mu \eta(X)\xi \implies \eta(QX) = -(\lambda + \mu)\eta(X), \\ Q\xi = -(\lambda + \mu)\xi. \end{cases}$$

By using (38), (37) reduces to

(39) 
$$(r - 2\beta^{2})(S(X, Z)Y - S(Y, Z)X)$$
$$+ (6\beta^{2} - r)(S(X, Z)\eta(Y)\xi - S(Y, Z)\eta(X)\xi)$$
$$- (\lambda + \mu)(\eta(X)Y - \eta(Y)X)\eta(Z) = 0.$$

Taking the inner product of (39) with  $\xi$ , we have

$$(r - 2\beta^2)(S(X, Z)\eta(Y) - S(Y, Z)\eta(X)) + (6\beta^2 - r)(S(X, Z)\eta(Y) - S(Y, Z)\eta(X)) = 0$$

which by putting  $Y = \xi$  and using (13) gives

(40) 
$$4\beta^{2}(S(X,Z) + (\lambda + \mu)\eta(X)\eta(Z)) = 0.$$

Thus we have

$$(41) S(X,Z) = -(\lambda + \mu)\eta(X)\eta(Z).$$

From (13) and (41), it follows that  $\lambda = 0$  and hence from (14), we get  $\mu = -2\beta^2$ . Therefore, (41) turns to

(42) 
$$S(X,Z) = 2\beta^2 \eta(X)\eta(Z).$$

Thus we can state the following:

Theorem 7.1. If a quasi-Sasakian 3-manifold admitting an  $\eta$ -Ricci soliton  $(g, \xi, \lambda, \eta)$  satisfies  $Q \cdot R = 0$ , then the manifold is a special type of  $\eta$ -Einstein manifold of the form (42), and the Ricci solitons is always steady.

#### 8. Recurrent quasi-Sasakian 3-manifolds admitting $\eta$ -Ricci solitons

**Definition.** A quasi-Sasakian 3-manifold is said to be recurrent if there exists a non-zero 1-form A such that [23]

(43) 
$$(\nabla_X R)(Y, Z)W = A(X)R(Y, Z)W$$

for all vector fields X, Y, Z and W on M. If the 1-form A vanishes, then the manifold reduces to a symmetric manifold.

Assume that M is a recurrent quasi-Sasakian manifold. Therefore, the curvature tensor of the manifold satisfies (43). By a suitable contraction of (43), we get

$$(44) \qquad (\nabla_X S)(Z, W) = A(X)S(Z, W).$$

This implies that

(45) 
$$\nabla_X S(Z, W) - S(\nabla_X Z, W) - S(Z, \nabla_X W) = A(X)S(Z, W)$$

which by taking  $W = \xi$  and then using (7), (9) and (13) yields

(46) 
$$\beta S(Z, \phi X) - \beta(\lambda + \mu)g(X, \phi Z) = -A(X)(\lambda + \mu)\eta(Z).$$

Suppose the associated 1-form A is equal to the associated 1-form  $\eta$ , then from (46), we have

(47) 
$$\beta S(Z, \phi X) - \beta(\lambda + \mu)g(X, \phi Z) = -(\lambda + \mu)\eta(X)\eta(Z).$$

By replacing Z by  $\phi Z$  in (47), then using (4) and (6), we get

(48) 
$$\beta S(\phi Z, \phi X) + \beta(\lambda + \mu)(g(X, Z) - \eta(X)\eta(Z)) = 0.$$

In view of (5) and (13), it follows from (48) that

(49) 
$$\beta \mu(q(X,Z) - \eta(X)\eta(Z)) = 0.$$

This implies that  $\mu = 0$  and hence from (14), we get  $\lambda = -2\beta^2$ . Thus we can state the following:

**Theorem 8.1.** In a recurrent quasi-Sasakian 3-manifold an  $\eta$ -Ricci soliton becomes a Ricci soliton which is always shrinking.

**Example.** We consider the 3-dimensional manifold  $M = \{(x, y, z) \in \mathbb{R}^3\}$ , where (x, y, z) are the standard coordinates in  $\mathbb{R}^3$ . Let  $e_1$ ,  $e_2$  and  $e_3$  be the vector fields on M given by

$$e_1 = \frac{\partial}{\partial x}, \ e_2 = \frac{\partial}{\partial y} + 2x \frac{\partial}{\partial z}, \ e_3 = \frac{\partial}{\partial z} = \xi,$$

which are linearly independent at each point of M. Let g be the Riemannian metric defined by

$$g(e_1, e_1) = g(e_2, e_2) = g(e_3, e_3) = 1, \ g(e_1, e_2) = g(e_1, e_3) = g(e_2, e_3) = 0.$$

Let  $\eta$  be the 1-form on M defined by  $\eta(X) = g(X, e_3) = g(X, \xi)$  for all  $X \in$  $\chi(M)$ . Let  $\phi$  be the (1,1) tensor field on M defined by

$$\phi e_1 = -e_2, \ \phi e_2 = e_1, \ \phi e_3 = 0.$$

The linearity property of  $\phi$  and q yields

$$\eta(\xi) = g(\xi, \xi) = 1, \ \phi^2 X = -X + \eta(X)\xi, \ \eta(\phi X) = 0,$$

$$g(X,\xi) = \eta(X), \ g(\phi X, \phi Y) = g(X,Y) - \eta(X)\eta(Y)$$

for all  $X, Y \in \chi(M)$ .

Now, by direct computations we obtain

$$[e_1, e_2] = 2e_3, \quad [e_1, e_3] = 0, \quad [e_2, e_3] = 0.$$

The Riemannian connection  $\nabla$  of the metric tensor q is given by

$$2g(\nabla_X Y, Z) = Xg(Y, Z) + Yg(Z, X) - Zg(X, Y) - g(X, [Y, Z]) + g(Y, [Z, X]) + g(Z, [X, Y]),$$

which is known as Koszul's formula. Using Koszul's formula, we can easily calculate

$$\begin{split} \nabla_{e_1}e_1 &= 0, \ \nabla_{e_2}e_1 = -e_3, \ \nabla_{e_3}e_1 = -e_2, \ \nabla_{e_1}e_2 = e_3, \ \nabla_{e_2}e_2 = 0, \\ \nabla_{e_3}e_2 &= e_1, \ \nabla_{e_1}e_3 = -e_2, \ \nabla_{e_2}e_3 = e_1, \ \nabla_{e_3}e_3 = 0. \end{split}$$

Also, one can easily verify that

$$\nabla_X \xi = -\beta \phi X$$
 and  $(\nabla_X \phi) Y = \beta(g(X, Y) \xi - \eta(Y) X)$ , where  $\beta = -1$ .

Thus the manifold M is a quasi-Sasakian manifold. It is known that

$$R(X,Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X,Y]} Z.$$

By using the above results, one can easily obtain the components of the curvature tensors as follows:

$$R(e_1, e_2)e_1 = 3e_2, \ R(e_1, e_2)e_2 = -3e_1, \ R(e_1, e_2)e_3 = 0,$$
  
 $R(e_2, e_3)e_1 = 0, \ R(e_2, e_3)e_2 = -e_3, \ R(e_2, e_3)e_3 = e_2,$   
 $R(e_1, e_3)e_1 = -e_3, \ R(e_1, e_3)e_2 = 0, \ R(e_1, e_3)e_3 = e_1.$ 

From these curvature tensors, we calculate the components of Ricci tensor as follows:

(50) 
$$S(e_1, e_1) = S(e_2, e_2) = -2, S(e_3, e_3) = 2.$$

Therefore,  $r = \sum_{i=1}^{3} S(e_i, e_i) = -2$ . From the equations (13) and (50), we obtain  $\lambda = 2$  and  $\mu = -4$ . Thus the data  $(g, \xi, \lambda, \mu)$  for  $\lambda = 2$  and  $\mu = -4$ defines an  $\eta$ -Ricci solitons on  $(M, \phi, \xi, \eta, g)$ 

Acknowledgement. The authors are thankful to the editor and anonymous referees for their valuable suggestions in the improvement of the paper.

#### References

- A. M. Blaga, η-Ricci solitons on Lorentzian para-Sasakian manifolds, Filomat 30 (2016),
   no. 2, 489-496. https://doi.org/10.2298/FIL1602489B
- [2] D. E. Blair, The theory of quasi-Sasakian structures, J. Differential Geometry 1 (1967), 331-345. http://projecteuclid.org/euclid.jdg/1214428097
- [3] \_\_\_\_\_\_\_, Contact manifolds in Riemannian geometry, Lecture Notes in Mathematics, Vol. 509, Springer-Verlag, Berlin, 1976.
- [4] \_\_\_\_\_\_, Riemannian geometry of contact and symplectic manifolds, Progress in Mathematics, 203, Birkhäuser Boston, Inc., Boston, MA, 2002. https://doi.org/10.1007/978-1-4757-3604-5
- [5] C. Călin and M. Crasmareanu, From the Eisenhart problem to Ricci solitons in f-Kenmotsu manifolds, Bull. Malays. Math. Sci. Soc. (2) 33 (2010), no. 3, 361–368.
- [6] J. T. Cho and M. Kimura, Ricci solitons and real hypersurfaces in a complex space form, Tohoku Math. J. (2) 61 (2009), no. 2, 205-212. https://doi.org/10.2748/tmj/ 1245849443
- [7] U. C. De and P. Majhi, \( \phi\)-semisymmetric generalized Sasakian space-forms, Arab J.
   Math. Sci. 21 (2015), no. 2, 170-178. https://doi.org/10.1016/j.ajmsc.2015.01.002
- [8] U. C. De and A. K. Mondal, 3-dimensional quasi-Sasakian manifolds and Ricci solitons, SUT J. Math. 48 (2012), no. 1, 71–81.
- [9] U. C. De and A. Sarkar, On three-dimensional quasi-Sasakian manifolds, SUT J. Math. 45 (2009), no. 1, 59–71.
- [10] U. C. De, A. Yildiz, M. Turan, and B. E. Acet, 3-dimensional quasi-Sasakian manifolds with semi-symmetric non-metric connection, Hacet. J. Math. Stat. 41 (2012), no. 1, 127–137.
- [11] U. K. Gautam, A. Haseeb, and R. Prasad, Some results on projective curvature tensor in Sasakian manifolds, Commun. Korean Math. Soc. 34 (2019), no. 3, 881-896. https://doi.org/10.4134/CKMS.c180235
- [12] S. Ghosh, n-Ricci solitons on quasi-Sasakian manifolds, An. Univ. Vest Timiş. Ser. Mat.-Inform. 56 (2018), no. 1, 73-85. https://doi.org/10.2478/awutm-2018-0006
- [13] J. C. Gonzalez and D. Chinea, Quasi-Sasakian homogeneous structures on the generalized Heisenberg group H(p,1), Proc. Amer. Math. Soc. 105 (1989), no. 1, 173–184. https://doi.org/10.2307/2046753
- [14] A. Haseeb and R. Prasad, η-Ricci solitons on ε-LP-Sasakian manifolds with a quartersymmetric metric connection, Honam Math. J. 41 (2019), no. 3, 539–558.
- [15] \_\_\_\_\_, η-Ricci solitons in Lorentzian α-Sasakian manifolds, Facta Universitatis (NIS), Ser. Math. Inform. 35 (2020), 713–725.
- [16] S. Kanemaki, Quasi-Sasakian manifolds, Tôhoku Math. J. 29 (1977), no. 2, 227-233. https://doi.org/10.2748/tmj/1178240654
- [17] \_\_\_\_\_\_, On quasi-Sasakian manifolds, in Differential geometry (Warsaw, 1979), 95–125, Banach Center Publ., 12, PWN, Warsaw, 1984.
- [18] P. Majhi, U. C. De, and D. Kar, η-Ricci solitons on Sasakian 3-manifolds, An. Univ. Vest Timiş. Ser. Mat.-Inform. 55 (2017), no. 2, 143–156. https://doi.org/10.1515/awutm-2017-0019
- [19] Z. Olszak, Normal almost contact metric manifolds of dimension three, Ann. Polon. Math. 47 (1986), no. 1, 41-50. https://doi.org/10.4064/ap-47-1-41-50
- [20] \_\_\_\_\_, On three-dimensional conformally flat quasi-Sasakian manifolds, Period. Math. Hungar. 33 (1996), no. 2, 105–113. https://doi.org/10.1007/BF02093508
- [21] D. G. Prakasha and B. S. Hadimani, η-Ricci solitons on para-Sasakian manifolds, J. Geom. 108 (2017), no. 2, 383–392. https://doi.org/10.1007/s00022-016-0345-z
- [22] M. Turan, C. Yetim, and S. K. Chaubey, On quasi-Sasakian 3-manifolds admitting η-Ricci solitons, Filomat 33 (2019), no. 15, 4923–4930.

- [23] A. G. Walker, On Ruse's spaces of recurrent curvature, Proc. London Math. Soc. (2) 52 (1950), 36-64. https://doi.org/10.1112/plms/s2-52.1.36
- [24] K. Yano and M. Kon, *Structures on Manifolds*, Series in Pure Mathematics, 3, World Scientific Publishing Co., Singapore, 1984.

Abdul Haseeb

DEPARTMENT OF MATHEMATICS

FACULTY OF SCIENCE

Jazan University

Jazan-2097, Kingdom of Saudi Arabia

 $Email\ address: \verb|mail| address| \verb|mail| address| \verb|mail| address| \verb|mail| address| \verb|mail| address| address|$ 

Shashikant Pandey

DEPARTMENT OF MATHEMATICS AND ADTRONOMY

University of Lucknow

Lucknow-226007, India

 $Email\ address: {\tt shashi.royal.lko@gmail.com}$ 

Rajendra Prasad

DEPARTMENT OF MATHEMATICS AND ADTRONOMY

University of Lucknow

Lucknow-226007, India

 $Email\ address: \verb"rp.manpur@rediffmail.com"$